
Tutor-USA.com Worksheet  �ame:      

Geometry      Date:    

Coordinate Plane      

 

www.tutor-usa.com      ©Tutor-USA.com All Rights Reserved www.tutor-usa.com 

Use the slope and y-intercept to graph each line on the coordinate plane below. 

1)   
3

1
4

y x= +        2)   
1

3
3

y x= − + . 

 

  

  

 

  

 

 

 

Use the x-intercept and y-intercept to graph each line on the coordinate plane below. 

3)   4 3 12x y+ =       4)   2 4 8x y− + = . 

 

  

  

 

  

 

 

 

Write each equation in Slope-Intercept Form. 

5)   4 3 12x y+ =       6)    2 4 8x y− + =  
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Write an equation in Point-Slope Form of the line that contains the given points and has the given slope. 

7)   ( 1, 3), 3P m− =       8)    
1

(6, 2),
2

P m− =  

 

 

 

 

9)  Write an equation in point-slope form of the line that contains the points A(-1, 1) and B(4, -9). 

 

 

 

10)  Write an equation in point-slope form of the line that contains the points A(-6, 3) and B(5, -2). 
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Answer Key 

1)   
3

1
4

y x= +        2)    
1

3
3

y x= − +  

 

  

  

 

  

 

 

3)   4 3 12x y+ =       4)   2 4 8x y− + = . 

 

  

  

 

  

 

 

 

5) 
4

4
3

y = − +  

6)  
1

2
2

y x= +  

7)  3 3( 1)y x− = +  

8)   
1

2 ( 6)
2

y x+ = −  

9)  9 2( 4) or 1 2( 1) y x y x+ = − − − = − +  

10)   
5

3 ( 6)  
11

y x− = − +  

 

            
            
            
            
            
            
            
            
            
            
            
            

            
            
            
            
            
            
            
            
            
            
            
            

            
            
            
            
            
            
            
            
            
            
            
            

            
            
            
            
            
            
            
            
            
            
            
            


